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QUESTION 1

A client wants to create a scalable set of microservices that communicate with each other, where multiple microservices
have a public REST API. Which architecture strategy allows this on Heroku? 

A. Each microservice is a separate Heroku app. The microservices communicate by using Apache Kafka as a message
bus. 

B. Each microservice is a separate process type in a single Heroku app. The microservices communicate by using
Redis as a message bus. 

C. Each microservice is a separate private space. The microservices communicate by using DNS Service Discovery. 

D. Each microservice is a separate process in a single Heroku app. The microservices communicate by using shared
memory. 

Correct Answer: C 

Reference: https://blog.heroku.com/announcing-dns-service-discovery 

 

QUESTION 2

A RESTfulAPIis: 

A. A methodology (or maximizing the effectiveness of any vacation 

B. An Actually Pretty Informative meditation session 

C. How the web displays data in a hierarchical format readable by both people and machines 

D. A web-based service that provides standard ways for clients to make requests and receive responses 

Correct Answer: A 

 

QUESTION 3

Universal Containers has multipleHeroku applications that use the same Heroku Postgres database. One of those
applications, SFDC-sync. uses Heroku Connect to sync the data between a Salesforce org and the Heroku Postgres
database. If the SFDC-sync app Is deleted. Heroku Connect will stopsyncing data. What is another consequence of
deleting the SFDC-sync app? 

A. All tables synced with Heroku Connect will be removed from the Heroku Postgres database 

B. Existing data will remain in both locations. 

C. All synced objects will be removed from the Salesforce org 

D. All tables will be removed from the Heroku Postgre database 

Correct Answer: A 
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https://devcenter.heroku.eom/articles/privale-spaces#lrusted-ip-ranges 

 

QUESTION 4

You can use the Salesforce REST APIs to: 

A. Execute processes as another user 

B. Access database log files 

C. Feed your kitten 

D. Insert or update records 

Correct Answer: D 

 

QUESTION 5

The primary benefit of a workflow outbound message over an Apex trigger is: 

A. The message supports different authentication mechanisms 

B. The message can deliver the payload only as SOAP 

C. Messages are completely declarative. 

D. The message can handle every database event. 

Correct Answer: C 
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